OHR-FCL80 R¥| R FICFRA IR 5%

F5 ik ik Z B 4 | BIEER Epit #iE
(k) | (- oSak))
1 768 300 KA int R V1.02
N 0: 28— gk 2RSS
2 775 307 BIERES bit W o G
7 1: 58 PRk 2R S
3 779 30B RENMEE float HiE 0. 00~20. 00
4 781 30D 12 AE float i 0.00~65. 0
5 783 30F 1 B8 HAE int His 4. 000~20. 000
[ s 784 310 2 BRH A int Hig 4.000~20.000 |l
NI 0: Aut
7 785 311 pINCE S int W e
1: Manual
E 786 312 T M int ] 0.0~65.0 |
787 313 REBIE int wH -10.0~10.0
o . 1: RCL2 (mg/L
10 793 319 Wil —5E long wE (mg/L)
2: Temp
BIE— TR
11 799 31F 1 HE 0. 00~20. 00
RCL2 one E
EiE— R
12 801 321 1 HE 0. 00~20. 00
RCL2 one b
e
13 803 323 B FIR long e 0. 0~65. 0
Temp
e
14 805 325 BIE LR long e 0. 0~65. 0
Temp
v vae o N 1: RCL2 (mg/L)
15 807 327 HiE _(E5 long BE
2: Temp
iHiE MR
16 813 32D 1 S 0. 00~20. 00
RCL2 one o
EiE— R
17 815 32E 1 HE 0. 00~20. 00
RCL2 one S
HIE
18 817 331 BB R long s 0. 0~65. 0
Temp
HIE
19 819 cEE G = LR long e 0. 0~65. 0
Temp
2: RCL2 FIR
3: RCL2 FJR
20 821 335 HE—ES long IS4G 4: BETR
5: I LR
6 TofRE
21 827 33B HE R long BH 0. 00~20. 00




JHIE— (e 2
22 829 33D 1 0.00~10. 00
RCL2 ons
BIE —HR A
23 831 33F B long 0.0~65.0
Temp
\E I a2
24 833 341 Pt long 0.0~10. 0
Temp
2: RCL2 FIR
3: RCL2 LR
25 835 343 HE _(ES long 4: JRETIR
5: WRE ERR
6:  LIRE
Wi R
26 841 349 1 0. 00~20. 00
RCL2 ons
SCip R EIP =
27 843 34B 1 s 0. 00~10. 00
RCL2 ong b
HIE R
28 845 34D IR AR long = 0. 0~65. 0
Temp
g
29 847 34F I long s 0.0~10.0
Temp
30 68-69 0x45 IP B b dl Chars4 S
31 70-71 0x47 BRIN 5 Char*4 S
32 72-73 0x49 LININGES Chars4 mE
33 74 Ox4A DL X 3 11 int 5
34 75 0x4B 8 TR hE int PeE] 1~200
0: 2400
1: 4800
35 76 0x4C JH TR R int T 2: 9600
3: 19200
4: 38400
0: 0dd (FFRE)
36 77 0x4D g int ERE 1: Even (fBE:5)
2: None (ICHZE)
37 78 Ox4E FH B 2 int ERE 4. FC230
\ 0: PRI
38 79 Ox4F S YE A int i
AR in L=k
o 0: i
39 80 0x50 SBRIES int ?i;c
1: =X
40 81 0x51 R e int 20~255
41 82 0x52 eI int 0~999s




42 83 0x53 b o LIS int 0~999s
V2 i Bk Tl T
43 84 0X54 i LT 1] 1) int .0~999. 9min
b
\ . . 0: ¥
44 > N
85 0x55 10 E A int L. T
N N = 0: 5S 1: IOS
45 86 0X56 E%'Wﬁg Sl int 2. 30s  3: 60s
. 120s
0: SZFHH
10 3¢ B4 2k 1: “FIE
46 i
87 0x57 ) int A
3: H/AME
b S R 0: g
47 1 B
88 0x58 e int e L i
0: Fahfuhk
0 S i & 2 1: ek
48 ' =
89 0x59 ) int e 00
3: EN ik
49 90 O0X5A izﬁ%j}zﬁ int s 0: A
fig i
2: RCL2 FIR
2 b K 2% . 3: RCL2 LR
50 91 0x5B int SE
Z 7 n > 4: RFEFIR
5: IRE LR




